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Position-Time Graphs

Direction of Motion
If the velocity of an object changes from positive to negative (or vice versa)
it simply means that it has changed direction. On a position-time graph this
occurs when the velocity changes signs.
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Positive Direction (East for Displacement Practice
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Negative Direction (West for Time (s)
this problem)

2) What inital velocity did each person start off with? (Jane: 2.3 m/s [E]; Jon 3.5 mis [E])

b) What was the final velocity of each person? (Jane 2.2 mis [WJ; Jon 1.7 ms [E])

) How long ater the start did Jane start moving west? (13 seconds)

) At what time were both people at the same location? (14 seconds)

e) What was the total distance traveled by each person? (Jane 29 m; Jon 20 m)

) What was the final displacement of each person? (Jane 3 m [E]; Jon 20 m [E])

9) What was Jon's instantaneous speed at the 5.33 s mark? (0.75 mis)

Ih) What was each person's average velocity for the entire trip? (Jane: 0.0.16 m/s [E; Jon: 1.1 mis [E])

i) What was each person's average speed for the entire trip? (Jane: 1.5 mis; Jon: 1.1 mfs)
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Displacement (m)

Physics 112: Displacement and Velocity

D-T Graph Analysis
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Velocity-Time Graphs
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Velocity-Time Graphs

Direction of Motion
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If the graph line crosses over the time axis from the positive region
to the negative region (or vice versa), then the object has changed
directions.

Velocity (m/s)

Physics 112: Displacement and Velocity
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V-T Graph Analysis

Acceleration = 0 mis?
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More Practice & Review
1) Use a scale diagram to ind the resultant of 90 km (W3, 60 km (€], and 70km [W7SN]

2) Use a scale diagram 1o find the resultant of 58 m [N], 12 m [S], 45 m [E], and 112 m [W]
oy
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5) A car accelerates from restto 32 mis [E] in 12.5 5. (a) Find the average acceleration. (5) What
distance is doss this car cover n that ime? (act = 2.56 mis: E; dist = 200 m)

6) A plane lands with a velocity of 47 mis [E]. It takes 17 s to stop. (a) What was the average
the plane? o 5t0p? (ace = 2 =

7 pocs cr ity at 27,8 mis [ acclerates 1 1.39 i [€]for 6.9 . (o) Wi st il velocity
of the car? (b) What distance was covered during the acceleration? (V= 40.2 ms; dist = 303 m)

) car ravelng o1 25 mis (€] coslerses to 10mis (E1in 5.0, () What s th scoseration of
hat distance was covered in that tme? (c) What distance, from the point where the

vty 25 7 (113 o t como 1 5 o assuingih acemiraton s Sonsant -3 et EJ: dis

=875 m; dist {0 slop = 104 ms)
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